
1



2



3



tidy()
broom
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chol <- read_csv(here::here("data", "chol213.csv"))1
glimpse(chol)2

Rows: 24
Columns: 2
$ Before <dbl> 195, 145, 205, 159, 244, 166, 250, 236, 192, 224, 238, 197, 169…
$ After  <dbl> 146, 155, 178, 146, 208, 147, 202, 215, 184, 208, 206, 169, 182…

chol %>% 1
  get_summary_stats(type = "common") %>% 2
  gt()3
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ggplot(chol, aes(x=Before)) +1
  geom_density()2

ggplot(chol, aes(x=Before)) +1
  geom_boxplot()2

ggplot(chol, aes(x=After)) +1
  geom_density()2

ggplot(chol, aes(x=After)) +1
  geom_boxplot()2
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chol <- chol %>% 1
  mutate(DiffChol = After-Before) 2
head(chol, 8)3

# A tibble: 8 × 3
  Before After DiffChol
   <dbl> <dbl>    <dbl>
1    195   146      -49
2    145   155       10
3    205   178      -27
4    159   146      -13
5    244   208      -36
6    166   147      -19
7    250   202      -48
8    236   215      -21

chol %>% 1
  get_summary_stats(type = "common") %>% 2
  gt()3
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Before After DiffChol
ggplot(chol, aes(x=Before)) +1
  geom_density()2

ggplot(chol, aes(x=After)) +1
  geom_density()2

ggplot(chol, aes(x=DiffChol)) + 1
  geom_density()2

ggplot(chol, aes(x=DiffChol)) + 1
  geom_boxplot()2
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chol %>% select(DiffChol) %>% get_summary_stats(type = "common") %>% gt()1
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chol %>% 1
  select(DiffChol) %>% 2
  get_summary_stats(type = "common") %>% 3
  gt()4
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t.test

mu = 0

t.test(x = chol$DiffChol, mu = 0)1

    One Sample t-test

data:  chol$DiffChol
t = -5.6965, df = 23, p-value = 8.435e-06
alternative hypothesis: true mean is not equal to 0
95 percent confidence interval:
 -26.63811 -12.44522
sample estimates:
mean of x 
-19.54167 
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t.test paired = TRUE

x= y=
mu = 0

t.test(x = chol$Before, y = chol$After, mu = 0, paired = TRUE)1

    Paired t-test

data:  chol$Before and chol$After
t = 5.6965, df = 23, p-value = 8.435e-06
alternative hypothesis: true mean difference is not equal to 0
95 percent confidence interval:
 12.44522 26.63811
sample estimates:
mean difference 
       19.54167 
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t.test paired = TRUE

long

chol_long

# first 16 rows of long data:1
head(chol_long, 16)2

# A tibble: 16 × 3
   ID    Time   Cholesterol
   <fct> <fct>        <dbl>
 1 1     Before         195
 2 1     After          146
 3 2     Before         145
 4 2     After          155
 5 3     Before         205
 6 3     After          178
 7 4     Before         159
 8 4     After          146
 9 5     Before         244
10 5     After          208
11 6     Before         166
12 6     After          147
13 7     Before         250
14 7     After          202
15 8     Before         236
16 8     After          215
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t.test paired = TRUE

t.test

x= y=

y ~ x

data =

Time ~ Cholesterol

# using long data 1
# with columns Cholesterol & Time2
t.test(Cholesterol ~ Time, 3
       paired = TRUE, 4
       data = chol_long)5

    Paired t-test

data:  Cholesterol by Time
t = 5.6965, df = 23, p-value = 8.435e-06
alternative hypothesis: true mean difference is not equal to 0
95 percent confidence interval:
 12.44522 26.63811
sample estimates:
mean difference 
       19.54167 
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# option 11
t.test(x = chol$DiffChol, mu = 0) %>% tidy() %>% gt() # tidy from broom package2

# option 21
t.test(x = chol$Before, y = chol$After, mu = 0, paired = TRUE) %>% tidy() %>% gt(2

# option 31
t.test(Cholesterol ~ Time, paired = TRUE, data = chol_long) %>% tidy() %>% gt()2
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# alternative = c("two.sided", "less", "greater")1
t.test(x = chol$DiffChol, mu = 0, alternative = "less") %>% 2
  tidy() %>% 3
  gt()4
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qt(1-alpha/2, df = 
n-1)

qt(1-alpha, df = n-1)

qt(alpha, df = n-1)
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